Review Quiz: Professor Scaillet
The objective of the quiz is to test for your ability to solve simple probability and statistics problems. The quiz is made of ten questions in a multiple choice format. You have 30 minutes to answer them. You will need to use a financial calculator and/or a spreadsheet to compute the solutions.
Question 1:
The value of the expression [image: image2.png]


 is
A. 1
B. 0
C. -2
Question 2:
The quantile at the 5% probability level is higher than the quantile at the 10% probability level.
A. Always
B. Never
C. Sometimes
Question 3:
The coefficient of ‘peakedness’ (kurtosis) of a Student t-distribution is lower than the one of a Gaussian distribution.
A. Always
B. Never
C. Sometimes
Question 4:
If we calculate a 90% confidence interval with the sample mean estimator, it means that we have a 10% probability that the true mean (unknown) lies above the superior extreme of the interval.
A. Always
B. Never
C. Sometimes
Question 5:
The coefficient of asymmetry (skewness) of a [image: image4.png]


 distribution is negative.
A. Always
B. Never
C. Sometimes
Question 6:

The model  [image: image6.png]Y} =aXy +bX; +ct+e



 is a regression model

A. Always
B. Never

C. Sometimes
The table below contains the data you need to answer the following questions. It is composed by two columns. The first one contains the monthly market excess return calculated as the difference between the monthly return of the index SP500 and the rate of return of the government bond with maturity 1 month. The second column gives the monthly excess return of an hedge fund calculated as the difference between the monthly return of the fund and the rate of return of the government bond with maturity 1 month. The 12 observations were recorded in the year 1994.
	Dates
	Market excess returns
	Fund excess returns

	94/01/31
	3.10%
	4.00%

	94/02/28
	-2.91%
	-2.20%

	94/03/31
	-4.62%
	-4.82%

	94/04/30
	1.03%
	2.08%

	94/05/31
	1.32%
	-0.42%

	94/06/30
	-2.78%
	-2.68%

	94/07/31
	3.03%
	3.06%

	94/08/31
	3.70%
	3.98%

	94/09/30
	-2.78%
	-2.47%

	94/10/31
	1.91%
	1.76%

	94/11/30
	-4.04%
	-3.89%

	94/12/31
	1.02%
	0.83%


Question 7:

The mean market excess return is:
A. 0.17%
B. 3%
C. -0.17%

D. 1%

Question 8:

The standard deviation (risk) of the monthly market excess returns is:
A. higher than the standard deviation of the monthly excess returns of the 

     fund
B. equal to the standard deviation of the monthly excess returns of the 

fund
C. lower than the standard deviation of the monthly excess returns of the 

fund
Question 9:

The monthly excess returns of the market and of the fund are:
A. positively correlated
B. not correlated

C. negatively correlated

Question 10:

The regression of the fund excess returns on the market’s excess returns gives
A. a positive relation between the two excess returns
B. no relation between the two excess returns
C. a negative relation between the two excess returns
Answers:

Q1 : A, Q2 : B, Q3 : B, Q4 : B, Q5 : B, Q6 : A, Q7 : C, Q8 : C, Q9 : A, Q10 : A 

